Question 1 : [Tpts|
1. Let A, B,C and D be matrices of order 3 such that AB + AC — D = 0,

1 -1 0 0 1 0
D|=6.B=(0 1 2]adC=[0 -2 —1}.
-1 1 0 1 -1 3

Find |A|
2. Let R and S be matrices of order 3 such that RS + R — 2] = 0.

1 0 2
Fnd R71iftS=[(2 3 4|
0 2 5



Question 1 : [6 pts|

a) Let A be a matrix of order 3 such that |A| = 3 and |A2 + 1 =2
Find |A + A7



1 1 1

a) If A= I1 0 11“ then find adj(adj(4)).
1 i 0

: ) 12 3k-2 .

b) Find the values of k that makes the matrix [ 2 1 symmetric.
1 3 2

c) Let B=|0 -5 4]. Explain! Why the matrix B can be expressed as a product of
0 0 o6

elementary matrices?



(¢) Find :!{m{ni) ' .1 where .{ is a matrix of size 4x4 such that [A)=3.



1. Let A, B be matrices of size (3, 3) such that A is not invertible and |B| = 2.
Find |Aadj(4) +2B7|.

-1 1 1 1

. . 1 -1 1 1

2. Compute the following determinant | 1 -1 1
1 1 1 -1

3. Compute the inverse matrix of the matrix A, where A =

=
—_— =
[ S S SR
[ T Ty



[a—y
[

2
1. Consider the matrices A and B such that A= (—1 ( 1) and AB= A + 2I3.
2

]
—

Find the matrices A~1 and B.

10 0 0 -2 1 -1 2
. . ) ~ 0 =2 0 0 - 1 2 1 3
2. Consider the matrices ' = 00 0 0 and D = 0 1 0 1
0o 0 0 —1 1 1 —1 0

1

If E is a 4 x 4 matrix such that EC2 + ED = 2]y, then find E~



1 2 =3
1. a) Find the matrix adj(A) it A= 3 —1 2 |,
-2 4 =2

b) Find adj(A).A.



1 0 A
a) Find the values of i for which the matrix [2 1 2+ A|is invertible.

2 3 A®

b) By using properties of the determinants. show that:

a+rb+c b a c b a
dt+e+f e d|=|f e d|.
g+h+i h g i h g
2 -1 0
c) LetA=|1 -2 1 |. Find adj(4) and A7,
1 -1 0




	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8

